Example: (Like HW 3.9/3)

A kite in the air at an altitude of 400 ft
is being blown horizontally at the rate
of 10 ft/sec away from the person

holding the kite string at ground level.
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Example: (Like HW 3.9/2)

One bike is 4 miles east of an '*"‘E"*’E""\":‘ ./ s |
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Example: (Like 3.6-9/13, 3.9/9)

A 13-foot ladder is leaning against a
wall and its base is slipping away from
the wall at a rate of 3 ft/sec when it is 5
ft from the wall.

How fast is the top of the ladder

dropping at that moment?
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Example: (Like 3.9/6) NP A
- - ///// ‘T SHonen C
A lighthouse is located on a small /’fé r
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island 2 km away from the nearest Lighitos (e F:_?
point P on a straight shoreline and its 5
-
light makes three revolutions per 2
V)

minute. -
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How fast is the beam of light moving £V
along the shoreline when it is 1 km
from P?
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